q 49 49 d

.X:l

d4 49 9 <9 d

20. frferRad elteifaai &1 aref Fase HIRT |
(P) TESTe TR Beldd ST
(W) R BT ARM SIFHET 319 Tid BT Rig
21, 3R, TEFT AT 3TN, Ul o1 37ef TS BIFT |
22. 9193 fdha YBR & Bl 87
23. 'TAUER’ 96S H BT TN 872
24, FrfeIRad ereai & qI-ar 3ref JaT=y |
() fot () aoft
25. LGB HIT |
() Far (@) FARE
26. '‘facrcd & o e dfagar sRest &' Fase HIRT |
27. gre¥ie Siiad &1 Wi 99 W1 § s HIR |
28. dqared 3R HHag § 3R JaTey |
29. HYRICR & & H T A FIT M 872
30. VWY TAT HIgeR H IR ISV |

*

(iv)

D136 CBPP101

$aer ke M (@) er - 2014

CEIERRICRER))
UM U9 : §EY &l

99 : 2.30 €U guife : 100

Sy : uAs @us ¥ A FaT 25-25 U & PA 3 |
TG 999 & FIE 3P B

s - A 25x2=50

T. 1. I5C 9T fpd e &7

¥ 2. "'u9H AR’ fhadl T 87

T 3. A< IEDH b DA DI 57

U 4. JATYY DI AT AN b PaT 87

U5 "I H T P H I 3 qife” HiaR g’ iRy J oA g9 87
U. 6. Yfdd ISl & S-d Bl A Iadsy |

U, 7. gfsc A7t & Ufrssrar HH 872

U, 8. HRI & Al 5 sma it 22

7. 9. BHMER & IR Il & AF foIRau?

9. 10. GFT g HT a7 AT Pfaan - 82

U, 11, TG BT & TR B H THT ST 87

(i) $g3.



.12

.13

.14,

. 15.

. 16.

7.

. 18.

. 19.

. 20.

.21,

. 22.

. 23.

. 24.

. 25.

. 26.

. 2T7.

. 28.

. 29.

. 30

'Y ‘aaé " QU éﬁ NIATDN Dl A dd éQ |
e’ SuaRT o TR o) forar T 87

SiFvE & IUITAT W fobe €1 RI=dep! T U9 2?

&<t wer! a1 & UReT | < &1 fhT 93t &1 99 aneH
&1 87

TR BHEFT BT ST 5y AT ST & 2

3T IS garel o AANIDRIHD e & TR H Hablerd 87
TRA=g T A BT W TR 7 & 87

Ie 9 fobd Ed &7

feact i fogl 1 dfoi & 7™ 91y |

"3 AT AT 319 T A 8 Gl b1 UG T e TR 3 T TR 57
"I DBET AT HEFT B @RIAT BT M fIRIT |

qardeh hTed URFURT bl URTg it T T forRRey |

ARG AR B AFEg 6 Ud fRIC ISl F1 HET AT 87

SRR & T A1egd & 9 fIRau |

ST Aed IR daidh & Dl & YR qamsy |

fora AT faer o1 =g IMa 9 81T 872

THIH B IS o N T |

31T ol 31 TS B |

Rarafer’” foe &= & faer 87

(ii)

4 949 d d d d d d d d d d 9 9 9 9 9 9

—

© ©o N o2 g &~ 0D

i W U G G — G — G — G —
©® ~N O OO A ®W N 4o O

19.

Gus - §
Sftaett fomeT Qeft 7 fort oreft &2

&<t & U TFHRI & A a1y |

fe=<t o ATaTcepR Bl URFURT BT TRFH Pel 3 32
cefifthe & T et 872

fYeR @1 AT oref T &7

A, gREed H yger A9 AU BT AFT ST 82
thoesft & a1 arwf 87

SO Hel HdT B A URFT §5°
MGG U FT T B?

25x2=50

. IR U B 3T T AT & ST Il 872

. 3NIE UG A Fidem arer el 3w aH-wr 87
. o=l AeTeR e A1 BT AR SgETe B9 g3
. PRI 9 <@ &1 A Jamy |

. A9 AT (eafy S@) T & § d8g Suarft 872

. PIITAT ST9 T TRT fALeaT Jarsy?

. TP ICPSC HeUD /AR gD o o1 qary |

. fewor @R fewoft # ar eFeR 2

. FrfoiRad aresl & &1-31 yatgar oes o |

(P) fopor () geft
ffaRad sreat & faam oreg forRau |
(@) &= (@) writ

(iii) $g3.



fgegenf=a ¥ YRT & AN BT gui HIRTT |

Describe the India's Contribution in World Peace

ARG Seldrg IR Yeh Hard fewult forReg |

Write a brief note on Indian Climate.

SULRT & YR TR BHAAT BT JIDHRUT ST |

Give the classification of crops on the basis of utilization.

GRI&T T TR a1 o FIT 3R 87

What is difference between Safe and Protected forest?

§HIE — 5 / UNIT-V

W IV 797 &7 HY / Attempt any four questions. 20

Stiee fIst= & Q1T 37 R YH19T S |

Throw light on seven components of Science of Living.

1Y Bt i a1em pE) &7

Which are three problems of "Samadhi".

9TferT & Nt DT IR By |

Explain the sources of power.

BRI I FT Tq 82 $FD 7T 1T 8 ?

What do you mean by kayotsarga and what are the effects of it.

RS Tl & q18e T DIk 87

Which elements are hurdles for Nation Unity?

*

(iv)

D138 CBPP103

$aer Re M (f.dd) er - 2014

CEICERICRERD)
fadla o3 : of® TfdG w9 AT S1eddH

I : 2.30 €0C quife : 100
et : gcd® 3BT Bl geT BT Ay &1

Note : Each unitis compulsory to be attempted.

gHE - 1 / UNIT-
33T B0 FIv 7o7T o7 FY /

Attempt any four questions. 20

g. 1. f=fReaa o iRaa sa i |

Findout the average of the following :
5I 2I1/3I 4I2/3

g, 2. frAfIRed dEamell & e T JUHEUs! 6 Fe™dr A Sa
N |
Find out the square root of following digits with the help of
indivisibles :
(i) 729  (ii) 10,000

7. 3. IS oo 5w &M @1 10 37 5 g-7 vl 8 3iR J1e 9 15 oA
9 R Rl © o 1 AT I fohae oAl 5 O)1 v |
If Shankar take 10 days to complete a work and Mohan takes 15

days. Then how many days both will take to complete the same
work?

(i) PT.0./35.9.3.



T. 4. U gaT3 el 900 foeft & gt &t 1 gver 30 e & a3 a ofar
2 | BT ST g Tl I Sl 87
An Aeroplane covers 900 km. distance in 1 hour 30 minutes. Then

what is the speed of Aeroplane?

9.5 270%. @ A,B,CH2:3:4% 30 H ac|
Distribute 270 Rs. among A, B, Cin 2 : 3 : 4 ratio?

B - 2 / UNIT-II
[T F) FIv 79T 5T FHY/
Attempt any four questions. 20

T. 1. gHuTeT Pl AN 765%. § S99 I 15% B &Il & | 3T BT -
g S P |
Dharmpal suffers a loss of 15% on selling crop for Rs. 765. Find
out the cost price of crop.

T. 2. 99 & ARG 3T 20,240 U € | Ig AUl AIRID 3T &l
12.5% TIRY R I Bl & AT IR o I8 TR IR =T g
e 8?
Monthly income of Raman is Rs. 20,240. He spends 12.5% of his
monthly income on health. Find what amount he spends on health?

T. 3. I TS TEM 400 IUI dI §Ud Bl 8, TP AT H GHT A
febett sFaret e

Suman saves Rs. 400 every month. What amount she saves in one year.

U 4. foedt foermera 5 gol B W1 680 7 | IS I W 40% ISR &
ar TTefhar Ht AT bt 87

In a school the total number of students is 680. Out of them 40%
are girls, then calculate the number of girls.

(i)

¥. 5. 750 39U P IS a9 Bl IRA TN 225 WYY BIAT & I Pl ATffep
&R A N |
If Simple interest of 750 rupees is 225 of two and halfyear.
Calculate the yearly rate of interest.

gHIE — 3 / UNIT-NI
33T B TV 797 &7 FHY/

Attempt any four questions. 20

T, 1. SIS IS I & AR 38R Dl PHoudT bl 87

According to Raja Ram Mohan Ray what is God's concept.

g 2. 39 99 W Uep ferunft ford |

Write a short note on Christianity.

v. 3. 3neuicdd g Afid o pIF-DIRT 87

Explain the religious and moral values?

U. 4. IUEd ]I DI SRR 7 87

What is the foundation of Anuvrat Movement?

T. 5. UIRaR® Sita- § 190 o7 Ay &ei arel a7 872

Describe the elements which are spoiling Family lifes.

§HIE — 4 / UNIT-IV
73 B TV 797 ST FH/

Attempt any four questions. 20

9. 1. 18573 H Hifd & SRIHA P QI BRUN BT Ieoid D |
Write two causes of failure by 1857 freedom fight.

(iif) PT.0./$.93.



Q. 6. Mark the correct question tag. (Any Five)

Q.7.

Q8.

Q.9.

5x1=5

(i) Ramesh is not coming __ ? Isn’t he / Is he

(ii) Let me havealook __ ? tlaven't you / will you

(iii) Stop that noise __ ? don't you / will you

(iv) Itiscloudy __ ? Is it / Isn't it

(v) Hedid notwork __ ? Isn’t he / Did he

(vi) She used to live here ___ ? Usednt she / didn't she
(vii) I maycome ____? Mayn't | / May |

Fill the correct preposition. (Any Five) 5x1=5
(i) I'have given ___ smoking. up / at / from / of
(ii) Birds are flying ____ the bridge. over/on/with /under
(iii) The chair is made __ wood. for / of / with / by
(iv) He was here yesterday. for / till / since / to
(v) The boyis ____ the door. on/in/at/ by

(vi) Don't take pity ____ me for /on / with /in
(vii) He died ____ cholera from / of / by / with
(viii) He was tired _____ the end of the day. at/in/ after/ to

Write a paragraph in about 150 words on any one of the following. 15

(i) Use of computers in Daily life

(ii) Importance of English

(iii) My dream, my life

Write a letter you father to send you Rs. 2000 for purchasing a

newdress. 10
OR

Write an application to the Principal of your college requesting
him to start 'Spoken English Classes.'
'

(iv)

D137 CBPP102
BACHELOR PREPARATARY PROGRAMME
EXAMINATION 2014
(Correspondence Course)
PAPER - | : GENERAL ENGLISH
Time : 2.30 Hrs. M.M. 100
Q.1. Readthe following passage and answer the questions given below :

The beauty of the Japanees landscape is that it conveys
philosophical messages through each feature. The use of curving
pathways rather than straight lines, for instance. This feature
springs from the belief that only evil travels in straight lines, good
forces tend to wander. Then, odd numbers of plants on trees are
used in these gardens because these numbers are considered
auspicious. Even the plants used are symbolic. For example, the
cyprus represents longevity and the bamboo symbolises
abundance. In Japan, nature is said to be so closely intertwined
with human life that parents actually plant a sapling in their garden
when a child is born in the family, letting the growth of the child

coincide with the growth of the plant.
1.1. Answer the following questions. (Any Five) 5x2=10
(i) 'Abundance' means.

(ii) The Japaneese parents plant a sapling at the of birth
of a child because.

(iii) What does the passage say about the Japanees?
(iv) What can be the suitable title of the passage?
(v) The Japaneese pathways tend to be.

(vi) The prefer curving pathways because.

(vii) Name the plants mentined in the passage.

(viii) What is the message ot the passage?

(i) PT.O.



1. 2. Write the Hindi meaning of the follwing words: 10 x 2 = 20

(a) beauty (f) odd

(b) landscape (g) symbolic

(c) message (h) intertwined

(d) for instance (i) sapling

(e) feature (j) coincide
Fill the suitable article in the blank. (Any Five) 5x1=5
(i) ___ article (ii) _ Taj
(iii) ___ boy (iv) ___ college
(v)  ___ Rajasthan Patrika (vi) ___ rice
(vii) ___ hotel (viii) ___ greatbook.
Mark True / False. (Any ten) 10x1=10
(i)  'Yesterday'is used in present simple. True /False
(ii)  There are four tenses in English. True /False
(iii) 'Do'is a modal verb. True /False
(iv) 'Her'is a subjective case. True /False
(v)  'Modal Verbs' don't have present forms. True /False

(vi) 'Today' and 'Tomorrow' give similar meaning. True /False

(vii) 'l go'is a present simple sentence. True /False
(viii) 'News'is an uncountable noun. True /False
(ix) Adrerbs and Adjectives are sant. True /False
(x)  Nouns can be used at the place of pronouns.  True /False
(xi) 'She'is a pronoun. True /False
(xii) 'You'is a noun. True /False
(xiii) There is no intransitive verb in English. True /False
(xiv) ‘Be’ is a non-linking verb. True /False
Fill the correct option. Any ten. 10x1=10
(i) | togothere.
(a) am (b) is (c) are (d) All of them

(ii) Where you go yesterday?

(a) was (b) did (c) were (d) had
(iii)  Suresh as well as his friends coming today.
(a) is (b) are (c) were (d) had

(i)

(iv) His a big car.

(a) is (b) are (c) were (d) had
(v)  The patient ____ died, before the doctor came.

(a) had (b) was (c) were (d) is
(vi) He ___ notcome, yet.

(a) had (b) is (c) has (d) have
(vii) ___ youknow him?

(a) Do (b) were (c) is (d) have
(viii) ___ hehelp me?

(a) shall (b) will (c)is (d) was
(ix) It__ raintonight.

(a) may (b) is (c) will (d) were
(x)  You____ not bring mobile phone in the exam hall.

(@) must (b) may (c) will (d) is
(xi) Heusually ___ here.

(a) comes (b) come (c) came (d) is coming
(xii)) What___ you know about me?

(a) do (b) does (c) done (d) All
(xiii) ___ you going this evening?

(a) Have (b) Are (c) Do (d) Am

. ldentify the Capitalized word. (Any ten). 10x1=10

(i) It's a NICE dress. Adverb/adjective
(ii) YOU are my friend. Noun/Pronoun

(iii) DO you take tea?
(iv) RAM has read this book.
(v) RICE is a good food.

Helping verb/Main verb
Noun/Proper Noun
Countable noun/Un countable Nuon

(vi) Ramayan is THE best book

definite article/Indefinite article

(vii) THIS is my car Adjective/Adverb
(viii) Early train reached EARLY Adjective/Adverb
(ix) The show started LATE Adjective/Adverb

(x) The penis IN the box.
(xi) I've JUST done it.

Preposition/Pronoun
Preposition/Pronoun

(xii) SWIMMING is good for health Gerund/Recent Participle

(iif)

P.T.O.



